Efficiency vs Dxy(PV)
0.8,

0.7

0.6}

0.5]

efficiency vs dxy(PV)

0.4]

0.3]

0.2]

o
S

3] S U P .

Ratio

=20 -15 -10 -5 0 5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare15_step2_ttbar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test

efficiency vs dxy(PV)

Ratio

9 806-04-02

0 0.2 04 06 0.8
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

S

o L

¥ F

e i R R LR

e T

> [ : : : : :

o I . . . . .

G 08p--renees PRt | RREE R EREREE

= r . . . . .

Y SR, U | R T
CETT T w|[ :
0.4 LS 1 [ EEEE feeees
02:_ ........... R T R LI

2

3

14
0.7, . . . . .
“30 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
1.

efficiency vs dz(PV)

0.2]

Ratio
L
T
[
$
-
\

0.9F - 4=+

.5 1
TP dz(PV) (cm)



	Contents
	Page 1


